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GEOGRAPHY (Theory)
T (dsrf~as)

Time allowed : 3 hours ] [ Maximum Marks: 70
fraiRa a7g : 3 g2 | [ sferpaw ai® @ 70

General Instructions:
(i) There are19 general questions.
(i) All questions are compulsory.
(i) Marks for each question are indicated against it.

(iv) Questions numbet to 10 are short-answer questions carryir@ymarks
each. Answer to each of these questions should not e0esdrds.

(v) Questions numbetl to 15 are also short-answer questions ofmarks
each. Answer to each of these questions should not ek26emords.

(vi) Questions numbet6, 17and 18 are long-answer questions 6fmarks
each. Answer to each of these questions should not et&6esords.

(vii) Question numbef9 contains test items of very short-answers. It i$ of
marks.
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(viii)Outline maps of th&Vorld and India provided to you must be attached
with your answer-book.

(ix) Use oftemplatesor stencilsfor drawing outline maps is allowed.
arr AT
() @& g9 &1 o aer 19 21
(i) & FoT Srfard &1
(i) T&F & aHT o°F i 7 &
(V) 797 @@ 1 & 10 T Tg-3X T §97 & SR g% 997 & 3 3% & | U g%
997 T FT 80 G G SIfErE TE BT ALY

(V) T97 d@T 11 & 15 % 4 Tg-Fa% ard §97 & SR 9% & 4 5% &1 U7 FdP
F9 7 T 120 Il & Siferes 7T &1 Tey

(Vi) F97 T&T 16, 17 377 18 T-307 aid 97 & i 9% & 5 3% &1 U §eds
F97 BT I7 150 I G Sifera &1 &7 ey

(Vi) 797 G@IT 19 & 3ifa Tg-FTI Bl G 73 AT &1 T8 J97 5 5% BT & |
(viil) TR SR R P 133 T F@r-771=1 B ST Ta-GRasr 4 sa9g Tl Hiorg |
(i) Y@r-arfaT a=r & fod it a7 @Rt & 59T &1 SgEfT & adt &

1. Who was the writer of the book ‘Geographia Generalis’? State two branches
of geography according to this writer. 1+2=3

SRAT SR e J&ieh 1 @ i 91? Tq adh & ATAR Y i al
SIETSAT T HITT |

2. Name the three groups of resources based on the content and give one example
of each group. 1%+1Y%5=3

foeae] W AR S9resi & dF au & AW gasy AR I&E A Bl UH-UH
EHEIEEHIEC N
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3. Why is iron most widely used in the world, in comparison with other metals ?
Explain three reasons. 3x1=3
HER | e 1 SUART 1T 973l &l gaT § qaifees H eldr &7 Wi BRI o
HITT |

4. Explain with examples the three major physical factors which affect the crop
distribution in the world. 3x1=3
AR § Bl & [IR0T &1 JHIGT & ard dF T Wit BRI Pl Seeon dred
e IR |

5. How does ‘specialisation’ in the production of goods and services promote
international trade in the world? Explain with three suitable examples. 3x1=3

AT AR Farell & I & fafirear @R § SRiwg AN A R TR
I Xl &7 T SUgTh SaTedvll dfed T Hifid |

6. Explain any three major problems faced by Indian farmers in drylands. 3x1=3

b (AT H ARA {Ra & qE 31 @ feheel T T9E GHETSAT bl T i |

7. “There is marked regional disparity in the levels of development in India”.
Support this statement with any three suitable examples. 3x1=3

“qra | fara & X | urefire fawwar s stwed & 17 R e S SaTe
BN 39 R dl gt HIf |
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8. Study the map given below and answer the questions that follow :

1950-51 1980-81 1996-97
Length of Roads(000 km)
All 400 1419 2465.9
Surfaced 157.0 684.0 1394.1
National Highways 19.8 31.7 34.8
State Highways NA 94.4 137.1
Number of Registered
Vehicles (000)
All 306 5391 37231
Goods Vehicles (000) 82 554 2260
Buses 34 162 488

(8.1) Which type of roads shows the highest increase during the period
between 1950-51 and 1996-97 ? How much has it increased ?

(8.2) Explain two reasons responsible for the increase in this type of roads:2=3
I & T gRol @ reaas Hifvd TR 3% Hi Rl Uyl % SR e ¢
1950-51 1980-81 1996-97
Ggdl &t =T (000 forHT)
Yl YRR & G5k 400 1419 2465.9
bl H%,??? 157.0 684.0 1394.1
TSI He™r 19.8 31.7 34.8
T TR NA 94.4 137.1
ENRRIEN
aresT (000) 306 5391 37231
Arddres dre- (000) 82 554 2260
GE| 34 162 488
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(8.1) 1950-51 3fR 1996-97 I AT &% T fhT YBR Bl TSHl § FAMer® Ihg
g2 &7 T8 gig fhal &7

(8.2) =9 YBR &I eHl H g2 Iha & o0 ITRar &1 SOl &l Tee I |

Note : The following question is for thBLIND CANDIDATES only in lieu

of Q. No. 8.
State any three main features of ‘Border Roads'. 3x1=3
e Fefafad g9 daa gied qdenRiar & fog uew den 8 & e

W2

ATl Gl BT el diF q@T [aLIoaretl 1 3@ ity |

9. Study the map given below and answer the questions that follow : 1+1+1=3
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(9.1) Name the canal shown in the map. In which country is it located ?
(9.2) Name the two seas connected by this canal.
(9.3) Name any two lakes through which this canal passes.

i few o At & Segas FIfT o 3Ed S ¥ T gl & I i ¢
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(9.1) wWfE ¥ fEE 7€ &Y & AW 99120 | 98 T {69 I # g ®2
(9.2) =8 X | 3 & AFRI &% AW 1=y |
(9.3) et &1 sfici & - FamEy, S99 St I8 e TRl & |

Note : The following question is for th8lind Candidates only in lieu
of Q. No. 9.

State three main features of ‘Panama Canal'. 3x1=3
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e s fefafed 9ot daa gt alenfRfar & fou uet den 9 & wm
W E

YT BT & A e eIl Sl Seed@ Do |

10. Study the diagram given below and answer the questions that follow : 1+2=3

e

ﬁ.\ﬁ‘a""

3 3 Ty

(10.1) Give a suitable title to the given diagram.
(10.2) How is rainwater harvested through this technique ? Explain.

i few T S @ STeHEs FIT SR IEd S T U gt & I i ¢

A LY *
/:.\" ".av'i) by

(10.1) T 7T em@ & fog Suge e i)
(10.2) =9 fafer g1 auiera &1 GUe {6 R fokar Siar 22 T &ife |
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Note : The following question is for th&lind Candidates only in lieu

of Q. No. 10.

What is rainwater harvesting ? State any four objectives of rainwater harvesfin@=3

e s frefafed 997 daa g wenfiat & fou yew d@n 10 & =m

W T

TSI GUET hd hed &7 quieid GUBY & [ohrel IR Se9dl &l Swold it |

11. Write any two main characteristics each of the four different modes of transport

in the world. 4x1=4
GER # URaed & AR fe Aregdl & e fagvan i |
12. Describe any four major human-made sources of air pollution in India. 4x1=4

IRA 9 91g YU & foheel IR TH@ AHadhd rdi &1 o Hifg |

13. Explain any four differences between rural and urban settlements in India. 4x1=4

qRT § YT TR TR 9iqal J el IR il &l T iy |

14. Classify the means of communication of India into two groups. Explain three

points of importance of each group.
AR & GAR Qe & & 71§ i i | 9 @i & deAl & 78w o
Fe-d faregelt & = ik

1+3=4

15. Study the table given below and answer the questions that follow :  1%+1%+1=4

Global Land Use Changes (Area in Million Hectares)

Broad Land Uses| 1700 | 1850 | 1920 1950 1.980| 2000*

Forests 6214 | 5965 | 5678 5389 5053 3454

Grasslands 6860 | 6837 | 6748 6780 6788 3427

Croplands 265 537 913 1170| 1501 | 1512
64/1/1 8



(15.1) Under which land use category the smallest area of land is being used ?
Explain one reason for it.

(15.2) Name the land use category in which the area is continuously decreasing.
Explain due reason for it.

(15.3) Explain the main reason for the continuous increase of crop land area.

T < T Aol #7 STeaI HINT SR 38 A T T YAt & S S ¢
5T TR R -I0@T qRadT (8576 @ G 3R 1)

@ -3UgT 1700 | 1850 | 1920/ 1950 1.980 | 2000*

EE| 6214 | 5965 | 5678 5389 5053 345
T i 6860 | 6837 | 6748 6780 6788 342
EEA & 265 | 537 913 | 1170/ 1501 1512

(15.1) FF Y-SUAIT & =i A9 HH -4 HT SUART 3T & ? TEHT Th R

T HIT |

(15.2) 3F -SUANT a9 T AW FAsd RTEeHT &% TR 9 W@ & | TR Th
HROT T BT |

(15.3) %A &5 & AR 9g &1 & BRI W HI |

Note :

of Q. No. 15.

The following question is for th&lind Candidates only in lieu

Explain anyfour features of commercial agriculture practiced in the world. 4x1=4

e Frfaiad g9 daa gRed whenRiat & e ust den 15 & @

AR H 1ioToges HiU i fheel IR [Eudrstl &l e S |
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16. What are rural settlements ? Which are the two distinct patterns of rural
settlements of the world based on the form ? Describe three main features of
each. 1+1+1%+1%=5
FrT IRt R #Ed €7 ST & STUR W &R &l I akadl & a1 9@

e I F £? YAH Dl dH-F [IOarsti 1 aoi sifo |

17. What is the meaning of population growth ? Describe two main features each
of the four phases of Indian demographic history. 1+4=5

SEEAT gha 1 AT T &7 ARG SHI(hanid Sfaar Sl IRl STaerst i al-al ge&
ferSrorTatt <1 & it |

18. How do the physical factors play a dominant role in the distribution and density
of population on the earth’s surface ? Explain any five factors with suitable
examples. 5x1=5

gt R SHEEAT o fIaRoT T 5 i THIAT e | Hifieh HRE b YR Headqor
ftrepr frumar €2 58l UTa IRel T U SSERON Afed T Hiferd |

19.(19.1) Inthe given political outline map of theorld four features are shown
as A, B, C and D. Identify them with the help of the map legend and
write their correct names on the dotted lines marked on the map4x%2=2

(19.2) Onthe given political outline map dhdia provided to you, locate and
label the following with appropriate symbols : 3x1 =3
(i) The least populated state,
(i) The biggest oil refinery in the country,

(ii1) lron and steel plant located in Chhattisgarh.

(19.1) U U §ER & ToHITGR @HAHRS § a) @@ A, B, C s D &
fe@m T €| AHfeE @ el H qeddr ¥ I Yedie AR AT §
Sffohd @ivsd W@l WX 39 &0l & &l AW fofay |
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(19.2) 39ep! CU T HRA & VoHias @r-AFas o fefaiaa @ feafa
SUgh faedl g/ i@ R 9 9 fafad :

(i) |9 &F JTIEET AT T
(i) <91 T I8 T qd IREROT QT
(iii) xiETe # Rafa @er ofR zad g9

Note : The following question is for th&lind Candidates only in lieu
of Q. No. 19. 5x1=5

(19.1) Name the most populated country of Africa.

(19.2) Which is the largest wheat producing country of Europe ?

(19.3) Which is the least populated state of India ?

(19.4) Name the biggest oil refinery of our country.

(19.5) Name the iron and steel plant located in Chhattisgarh.

e FEfafEd 99T daa gied e & o g d@n 19 & =@
W E

(19.1) 3THIhT & qEH 3N THHET arel 397 T A9 Iy |

(19.2) AT HT T T TE IATEH 9T BIF AT 27

(19.3) YRA *1 TG FH TG ATAT AT B AT 87

(19.4) U I I FEH IS AT TR@IOT ATl BT A qA12Y |

(19.5) &<frTe ® forg drer 3R 38rd 9= &1 AW Sargy |
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Map for Question No. (19.2) I " (19.2) % fog

=t
o ‘\

KA INDIA

64/1/1 13





